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ADVANCE \u 15
·     choose positive case

·     t = 1.275 seconds or 
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Scoring

4 points for t = 1.275 or 
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1 point for “seconds”

b) v(t) = h’(t)= -32t
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No, the donut will not survive the drop

Scoring

3 points for -40.792


1 point for “feet/second”


1 point for “NO”
Solution
Station #2
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Scoring

3 points for t = π or 3.141


1 point for “seconds”

b.
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Scoring


2 points for correct derivative
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Scoring


3 points for 3.9


1 point for “m/sec”
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Both towers are 37.768 feet tall

Scoring

2 points for 37.768 for left tower


2 points for 37.768 for right tower


1 point for “feet”

b.
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Scoring


5 points for 1.602

Solution
Station #4
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Scoring


4 points for
[image: image12.wmf]3

 or 1.732


1 point for “hours”
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Scoring

5 points for 14.434 jumps

Solution

Station #5
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Scoring


2 points for each correct derivative.  Answers do not have to be simplified.
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